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Variable

O 4 Moint x7|3}
- XI2Y (DataType)lt O[22 HO| HHZ MO

int radius; // Bl M1
charcl,c2,¢c3;//3 702 H4E B =Hoj| MY
double weight;

int radius = 10; // B M Q1 91 X 7|3}
charcl='a,c2="b", c3="c;// MAT} SA|0f x7|Zt X|H
double weight = 75.56;

rx

radius = 10 * 5; // H==0f| gf O (= S ALK CHSOf &)
cl="r
weight = 5.0;




Variable

H==0| 3= (Variable categories)

B~ (static variables) ° & Of7f B (reference paramete:
A H== (instance - =8 Oj7f H= (output parameters)
variables e« X|9 Bz (local variables)

« HlE Q4 (array elements)

« of O B (value
class A {
public static int x; / static variable x=0
inty; // instance variable y=0
void Foo(int[ ] v, int a, refint b, out int ¢) {
inti=1;// XYH = AFESHI| HO| HHEA| £7|3t ER
c=a+b++;

}

|.
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Variable

class MyClass {
public static int X; // static field X=0
public int Y; // instance field Y=0
public void Foo() {//instance method
int Z; /| X| Gz AT El AEY
intW=Y:;//W=0
/lintU =2Z; // Error: Use of unassigned local variable Z

}

public static void Foo2() { // static method
X=2;

}

}

class Program {
public static void Main(string[ ] args) {
MyClass.Foo2();
Console.WriteLine(*X = “ + MyClass.X); // X=2
IIMyClass.Foo(); // Error: An object reference is required for non-static field, method, or property




Class/

Method
C# FCLO|= B2 S22 =0 HOEK /U

* Console

* MessageBox
e Int32

* Math

O S22 "ol= HaE(Method) 2t A2 &4 (Data Properties) =
g
* Method
© Console.Write (), Console.WriteLine (), Int32.Parse()

* Property
© Int32.MinvValue, Int32.MaxValue, Math.PI, Math.E
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O HaE=of Hastith?
- =NE A =AM & (divide and conquer)
« AEO| XALE
- ZE 89| HOd
. 458 AEE A8
- ZE9| Chestet JhEd




class NumberExample {
public static int AbsSum(int a, int b) {

if(@<0)a*=-1;
if (b <0)b *=-1,
return a + b;

}
}
class Program {
public static void Main(string[] args) {
int a = Int32.Parse(Console.ReadLine());
int b = Int32.Parse(Console.ReadLine());
if (a<0)a*=-1;
{if(b<0)b*:-1;
intresult=a+b;
System.out.printin("Z1t= " + result);
a = Int32.Parse(Console.ReadLine());
b = Int32.Parse(Console.ReadLine());
if(@a<0)a*=-1;
{if(b<0)b*:-1;
result=a + b;
Console.WriteLine("Z1t= " + result);
Console.WriteLine("Z2 1=

}

"+ NumberExample.AbsSum(-2

(6,08

)




properties

— HxE

A O A

class MyClass
{ Return Method

type name parameter list

A
v \

public static int SquareSum( int num1, int num2
{
int sum = numl + num2;
return sum * sum;
} \
return
value

body
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Method

X O
o_—

O 0|2 E (method)= M 2| (header) 2t = Al (body) E 4 &

AL
A
g8 oz

g 2| (header)

= g4+ SHl(body)







Method
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Method

X O
O_—

— HIs} X} 2 (return type)

—

- H2E0M gretol= 21 40| Xzds EAl

s HAE LHES ZE
&P Xe2 LEE

. BFB1Z Q10| HAE M¥ ZC return

« 2 (value type EEE= reference type)9-| return 2t /] LS 2 Htsl
vgEAe e 2l
vEEEALS YHBAE 2/H

e C# 7.08E Ex=2 ZIS Hizl return ref gt; // &= 2 Hhat

v ref 7|9E7F HME AZLAHO AE&L
2} return 7|9E FlO| 2% O] 2 =At0| Hx=2 Hiet




class Program {
static float Sum(float a, float b) {
return a + b;
}
static void Main(string[ ] args) {
float value = Sum(3, 4); // int->float implicit type conversion
value = Sum(3.2, 4.5); // compile error: cannot convert from double to float
Console.WriteLine("Hello ......... ™);
) ‘ ——
} class (parameters)

method
dot




— static method (& HAE) 5=

€

2 Z2ilA Lo M Q| static method & :
|AE

0

OE

CtE S22 WO A 2| static method 2 & :
SAH HAEH();




— instance method (O._|£Ed

A

HAE) ==

|>

I:l=| |]-||AI:D=|()

2 ZalA Lo A 29| instance method = :
A E




— instance vs static H|AE = 0 X|

namespace MethodExample {
public class A {
public void MethodC() { // instance method
Console.WriteLine("MethodC() in class A");
}
public static void MethodA() {// static method
Console.WriteLine("MethodA() in class A");

}
}

public class B {
public static void Main(string[] args) {

A.MethodA();

N e e AG MethodA ()

a.MethodC(); MethodC ()
}

in class A

in class A




— WAL TE A
HAETE NE2EE
A& =2 E5H0,
m= a0
SELX| H=
B SHE IO HiX| X|

Of T 2 Folgt

using System;
namespace NestedMethodExample
{
public class NestedMethod {
public static void MethodA() {

Console.WriteLine(“MethodA.");

}

public static void MethodB() {
MethodA();
Console.WriteLine(“MethodB.");
MethodA();

}

public static void Main(string[ ] args) {
MethodB();
MethodA();

}

MethodA.
MethodB.
MethodA.

MethodA.




Math Class
Method

Abs(x)

Ceiling(x)

Cos(x)

Exp(x)

Floor(x)

Log(x)

Max( X,y )

Min(x,y )

Pow(Xx,y)

Sin(x)

Sqrt(x)

Tan(x)

absolute value of x

rounds x to the smallest integer not less than x

trigonometric cosine of x (x in radians)

exponential method ex

rounds X to the largest integer not greater than x

natural logarithm of x (base e)

larger value of x and y
(also has versions for float, int and long values)

smaller value of x and y
(also has versions for float, int and long values)

x raised to power y (xy)

trigonometric sine of x (x in radians)

square root of x

trigonometric tangent of x (x in radians)

Abs(23.7)is 23.7
Abs(-23.7) is 23.7

Ceiling(9.2) is 10.0
Ceiling(-9.8)is -9.0
Cos(0.0)is 1.0

Exp(1.0) is approximately 2.7182818284590451
Exp( 2.0) is approximately
7.3890560989306504

Floor(9.2)is 9.0
Floor(-9.8)is-10.0

Log(2.7182818284590451 ) is approximately 1.0
Log( 7.3890560989306504 ) is approximately 2.0

Max( 2.3, 12.7 ) is 12.7
Max(-2.3,-12.7 ) is -2.3

Min(2.3,12.7)is 2.3
Min(-2.3,-12.7 ) is -12.7

Pow( 2.0, 7.0) is 128.0
Pow(9.0,.5)is 3.0

Sin(0.0)is 0.0

Sqrt(900.0) is 30.0
Sqgrt(9.0) is 3.0

Tan(0.0)is 0.0




Recursive

Methoa

— M7 M=
L X7 RIS SESHE HAEEAM 2 pHEE xo| e
A92 Tele pac

(I Al) Z O 2~ =& 0]-&3tH0] Ni(factorial) T+t

N-Z{E 2| = N * (N-1) * (N-2) * (N-3) *




Recursive

Methoa

— i Ol =2 off A

namespace RecursiveCallExample {
public class RecursiveCall {
public static ulong Factorial(ulong number) {
if (number <=1)
return 1;
else
return number * Factorial(number — 1);

public static void Main(string[] args) {
ulong nfact = Factorial(5);
Console.WriteLine(5* 4 *3 * 2 * 1 =“ + nfact);

} 5 * 4 * 3 *x 2 * 1
} = 120




Params

ZJE =

= C# params

. HAEO| DiHES HAE 02 ¥ 5 ok ARE Ysd],
o] AL c# 7|YE paramsS AT

* O] params 7|}EE 7IEHAEQ HIES Q=2 LA
oetileE & $EA| StLEE EXSH0F ofH, M
Ol=4+1-LilNl |

static int Sum(int start, params int[ | list) {
int sum = start;
for (inti = 0; i < list.Length; i++) sum += list[i];
return sum;

}
static void Main(string[ ] args) {
float value = Sum(10, 3, 5, 7, 9); // value = 34

}




Extension Method

St Z=9| static HAE
(@)

2B~ HAEQ AME AMEE=

F

E1E1I IA S0l e = US

Sloe ol e mase

© intYO[Lt stringOl= =Y HAMES FIH6IM ALEY
= A=

- 2 HAEE 71T BEAE static classO[0jOF &

o X HAEE static methodO|O{OfF &t

- S HAaEo| HHM D/HEHF0= this 7| EZL S0{7t0f
[=1;
| |




Extension

Method
— Extension Method Ol A

public static class MyExtensions {
public static bool IsEvenNumber(this int num) => num % 2 == 0;
public static int WordCount(this String str) {
return str.Split(new char[] {'","", 1"},
StringSplitOptions.RemoveEmptyEntries).Length;

}
public Program {

static void Main(string[] args) {
int num = 10;
bool even = num.IsEvenNumber();
Console.WriteLine(even); // True
string str ="This is HCI Programming! ";
int count = str.\WordCount();
Console.WriteLine(count); // 4




Partial Method (C

C#2.0

partial 7|9IE7}
EObIE|O‘|, partial
class, partial
struct,
partial interface®

S A o
A8 &= QUAJUS

partial method

INEEE

Partial method

O AE7F BHEA|
private O|O{OF S}11,
2| 240
void O|OfOF &t




Patial

Method
— Patial Method Of| |

public partial class Class2 {
public void Run() {

DoThis();
}
11 E2eP8X7 1S 7|2 private
// void gtzt

/I out 7 H=F7} U S
/I et X} virtual, override, sealed, new, extern 812
partial void DoThis(); // HIAE AL X H9|
}
public partial class Class2 {
partial void DoThis() { // HI2E &
Log(DateTime.Now);




Named Parameter (

= Named parameter

PCHE MOl iU TEE O 2umes opjus
SIXOf ma 2XPHOR OiFESTL GAXA std,
| 0RE SI%o HBEO| HAALE XHCl ALY 4 A

aﬁ% named parameterctid FE

static float Sum(float a, float b) {
return a + b;
}
static void Main(string[ ] args) {
float value = Sum(b: 3.2f, a: 4.5f);
}




Optional Parameter (C

= (Qptional Parameter

tC# 4. 0FH O M=o Di7ffis7 7|24 410 UCHH,
HAE == Al Olg{et Oi7f#+S Aot As &

© O|AZ optional parameterZtid BE

. CF, optional parameterte HIEA| Of7i e & O OFX| 20
S0 A00F &

« S709| optional parameter’/} U= EF BIEA]
optlonalo| Ot Of7iH=== FO| {X[S{OF 2

static float Sum(float a, float b=23.5f) {

return a + b;
}
static void Main(string[] args) {
float value = Sum(3.2f); // a=3.2, b=23.5, value=26.7
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Local Function

— offd ML Of7) H4S Bl XS0 Zots HMH 0| ZolE 2=
Y s HEH 228 000M 22 7ts®

- 2= FEX (Closure) 7|5 MY = AS

public static ref int Calc(int a, int b, int ¢) { // a=2, b=5, c=7
int factor = 10; // Calc LHOf| X|H¥H 4= factorE
intab = Formula(a, b); // 34%10 =4
intac = Formula(a, c); //48%10=8
return Math.Max(ab, ac); // 8
int Formula(int x, inty) {
intres=2*x+7*y-5;
return res % factor; // 2Z4¢r LHEO|M AR 7S - closure
}
}

static void Main(string[ ] args) {
int number = Calc(2, 5, 7); // 8
}




Local Function

private static string GetText(string path, string filename) {
var reader = File.OpenText($"{AppendPathSeparator(path)Nfilename}”);
var text = reader.ReadToEnd();
return text;
string AppendPathSeparator(string filepath) {
return filepath.EndsWith(@“\”) ? filepath : filepath + @”\”);

}

#nullable enable
I CHO.OREl 2 B4, OH7) 4, FA| oi7f W40 S48 87t
private static void Process(string?[] lines, string mark) {
foreach (var line in lines) {
if (IsValid(line)) {
/l processing...

olr

}
bool IsValid([NotNullWhenTrue] string? line) {

return !string.IsNullOrEmpty(line) && line.Length >= mark.Length; // closure




— H{ & (array)O|2t &2 49| HO|HE AZ2I5 M AFESHAHLE
HEY I R&5HH AHEE = A== 5t= HIO|H EtHY
e System.Arrayete ZEfA0A DHEE|RCH HIE (array) &l
HE= element & ¥ (type)O| &O}OF &
« XM (structure)E MZ AZHFO[ U= O|O|EO[X|TF
AAM (type) O] CHE %29 O30 AR
MY (array) = MZ GTHO| YD WAL 22 HO|EHES
:]__E_ |. oI- [[H Al-.Q_ol-




sfgdot= 232l €2 OO ds 7t HEZEZ] 44
HZ22= d582= X|HE




— B Mo

type [ ] name;

.« type - HIYS ANEZ FMSI= 249 YAl (type)S LIEIA
e [] - Hiol Xt (rank)E L}E}H

* name - H{EH=2| O|FS LtEIH

A

int[] myArray;

1127) 3

myArray = new int[5];




— B E2| =7|=}

E}©! x7| %
= Xk(int, long, float) S 0
2 Xt(char) null(8! 2t= 2[0J)
X< (string) null(8l 2= 2[0])
enum 0
£ 2 Y (reference) null(8l 2= 2[0])

int[ ] myArray;

myArray = new int[5]; ‘

0 0 0 0 0
(HH € QL)

myArray
(HHE3)




— HiEol 24 4 X[ F5t= YHE

int[ ] myArray = new int[5[{0,1,2,3,4};
int[ ] myArray ={0,1,2,3,4};

int[ ] myArray;

myArray = new int[5[{0,1,2,3,4};

0 1

2

3

myArray
(HHE3)

(HiE 2)




— HE2| 7|2t 29| 5

« int¥@O| s7He| RAF It H{E myArray/t A

)
o 1=
7|27t &3, HEZ2Z0 BfE0| MEE=0, HET2

StackML
7—|F Ri%ﬂ ZI% Heapoﬂ 7(‘|7<(>FO| =
Int[ ] myArray = new int[5]{14,54,23,11,65};

14 54 23 11 65

t

myArray myArrfay (0) T I T myArray (4)
myArray (1) myArray (3)
myArray (2)

Stack @< Heap @9




— CHAtE H Y A

- -

/1 2Kl HiE 2| of

int[,] myArray = new int [2,5]{
{0,1,2,3,4},
{5,6,7,8,9}

A




— CIAHA B E A 2AA2] 02 Off K]

int[,] myArray = new int[2,5){
{0,1,2,},
{5,6,7,8,9}

X 0fl2] Ll

0 1 2 X X
>
5 6 7 8 9

A




— 2X+# B g2l 37|

>
int[,] myArray = new intfrows, columns]; _l Tcolumn
0 0 0 i
e Rows * columns BFE9| o
HiY 37|7F MAEl myArray 00O

(B €3)

. MR AFRE HiEo| AV|ECE
SN 2 HFS Molstn
AtgSiCHH, D22 Y| | CE=R=ES

. HICHZ AT HIEHLCE MOISH
H{@o| 37|7} ACtH HiE ol
A7|7t 7tEXO|X| %7| W{Eof
CA| CH2 H4HoZ HIES
MZ MolstD Atgsjjof &t

-q-=-==--




Arrays) —
[1[]HEHZ SiF0{0F &
int[,] myArray = new int[2,5
{0,1,2,}, /10fl2] 2’d
{5,6,7,8,9}

¥

int[ ] [] myArray = new int[2][ ] ;
myArray[0] = new int[ ] {0,1,2,};
myArray[1] = new int[] {5,6,7,8,9};




— HIE2| ZAt

class CopyArray

{

static void Main (string [] args)

{
long [] Original = new long[4]{ 2, 1, 4, 5};
long [] Copy = Original;
Console.WriteLine(“1 : “ + Copy[3]); // 1 : 5
Original[3] = Original[0] + Original[2];
Console.WriteLine(“2 : “ + Copy([3]); // 2 : 6

}




— HiZo| 2A}

- HEO| A7t O|FO{X|H, SAE HIEE2
Z

A HE2

d8st= ZAo| ofL|zf, Hej
A

- AZ7| M=o Ao HiEQ
SAtEl HiEOIM = B 4S

=

Original

Copy

4 o Betor 47|
HZots AY
2 | 1] 4|5

(HHE 22)




— B E2| X+& (rank)

class ArrayTest

{
static void Main(string[ ] args)
{
int[ ] Arrayl = new int[4];
int[,] Array2 = new int[2,3];
int[,,] Array3 = new int[2,4,3];
NHN SO AFA2 HYE MRAN Q| 2t Q40| ==
Il Array12| Xt€d : 1
Console.WriteLine("Array12| At& : " + Arrayl.Rank);
Il Array2°| Xl : 2
Console.WriteLine("Array22| Xt : " + Array2.Rank);
/I Array32| Xt€d : 3
Console.WriteLine("Array32| Xt : " + Array3.Rank);
}




— H{E€2| 37| (length)

class ArrayTest

{
static void Main(string[ ] args)
{
int[ ] Arrayl = new int[4];
int[,] Array2 = new int[2,3];
int[,,] Array3 = new int[2,4,3];
/JHIEOo| A7| = HiEo| 2t @A A7|9 &4
/l Array1@| 37| : 4
Console.WriteLine("Array12| 37| : " + Arrayl.Length);
Il Array22| 37| : 6
Console.WriteLine("Array22| 37| : " + Array2.Length);
/I Array32| 37| : 24
Console.WriteLine("Array32| 37| : " + Array3.Length);
}




— Hi g2 2IEA (index)

« H{@H [index] 2t M 1 H{EO| index T=A0| U=
element= Scotl, HHR elementl| index= 0Y
L O B8 index HWIIE HE OIHAS ABH

IndexOutOfRangeException O 27} &g

class ArrayTest

{

static void Main(string[ ] args)

{
int[] Arrayl = new int[4] {1, 2, 3, 4}
for (inti =0; i < Arrayl.Length; i++)
{

Console.WriteLine("Array1[{0}]={1}", i, Array1][i]);

}

}




— J& (Sort) |2~ E - System.Array.Sort()

- ME HAEE HIGo QAZES A7 &=AMIE EEe
T=MEH
Z =AMUZ2 d8S dfFd O|F HE0| Btdsliz= oLt

— X7|3} (Clear) D1|_.__ System.Array. Clear()

- HIE2| 4 R459 S =7|=ots Mk

— ZX| (Clone) M|~ E - System.Array. Clone()

- HIEol A7|e 24%4ES EF €A o0 MER HigS d-85t=
O~ E
— MOl (IndexOf) & E - System.Array. IndexOf()

. BOPL O| WO W WA QAQXS HHEls HAC




— ZX| (Clone), 22!l (IndexOf), & (Sort) HAE=

int[] one =new int[] {2, 1, 4, 5}; /lone{2,1, 4, 5}
int[] clone = (int[ ] Jone.Clone(); /lclone {2, 1, 4, 5}
one[3] = one[0] + one[2]; /lone{2,1,4,6}clone{2,1, 4,5}
foreach(intiin clone) {
Console.Write("{0} ", i); /12145
}
int where = Array.IndexOf(clone, 4); /l4is located in 2

Console.WriteLine("\n4 is located in {0}”, where);

Array.Sort(clone);
Console.Write(“After sort: ");
foreach(inti in clone) {
Console.Write("{0} ", i); /I After sort: 1245




— H2E9| 2|H {2 =9 Bl E

class ArrayReturn

{

static void Main(string[ ] args)
{
int[] MyArray = CreatelntArray(10);
/I MyArray®| 37| : 10
Console.WriteLine("MyArray2| 27| : " + MyArray.Length);

static int[ ] CreatelntArray(int size)

{
int[ ] intArray = new int[size];
return intArray;




— M=o QIXIZ A2l B E

class ArrayParam

{
static void Main(string[ ] args)
{
int[] MyArray ={2,6,5,4,1};
MyMethod(MyArray);
113,7,6,5,2
for(int i=0;i<MyArray.Length;i++)
Console.WriteLine (MyArray[i]);
}
static void MyMethod(int[ | parameter)
{
for(int j=0;j<parameter.Length;j++)
parameter[j]++;
}




int[ ] Arrayl = new int[4] {2, 1, 4, 5}; I/l one-dimensional array
for (inti =0; i < Arrayl.Length; i++)
Console.WriteLine("Array1[{0}]={1}", i, Array1][i]);

2145
int[,] Array2 = new int[2,3]; /I two-dimensional array
inta=1;
for (inti =0; i < Array2.GetLength(0); i++)
for (intj = 0; j < Array2.GetLength(1); j++) 123
Array2[i, j] = at++; 45 7
Array2[1, 2] =7,

int[, ,] Array3 = new int[2, 4, 3]{ /I three-dimensional array
{{1,2,3},{4,561},{7,8,9},{10,11,12}},
{{1,2,3},{4,561},{7,8,9},{10,11,12}}
¥

for (inti = 0; i < Array3.GetLength(0); i++)

for (intj = 0; j < Array3.GetLength(1); j++)
for (int k = 0; k < Array3.GetLength(2); k++)
Console.WriteLine("Array3[{0},{1}.{2}]={3}", i, |, k, Array3]i,

e N (W=
SN oydkdh WK
(6]

(Ve

1l 9o
i k]51,.0 11 12




int[ ][] Array4 = new int[2][] ; Il jagged array 012

Array4[0] = new int[] {0, 1,2 }; —5 6 T
Array4[1l] = new int[]{5,6,7,8,9}; 9 s_l

for (inti = 0; i < Array4.GetLength(0); i++)
for (int j = 0; j < Array4][i].GetLength(0); j++)
Console.WriteLine("Array4[{0}[{1}={2}", i, |, Array4[i][j]);

int[ ][] Array5 = new int[ ][] { Il jagged array 1 2
new int] {1, 2}, 3 L
new int[] {3, 4, 5},
new int[] {6, 7, 8, 9}, _E ,
new int[] {10, 11, 12} 10 11 12

h

for (inti = 0; i < Array5.Length; i++)
for (intj = 0; j < Array5[i].Length; j++)
Console.WriteLine("Array5[{0}[{1}={2}", i, j, Array5[i][j]);




